

What is Rational Expression

Recall that the definition of a **rational number** is a real number that can be expressed in the form $\frac{a}{b}$ where *a* and *b* are integers and $b \neq 0$.

Rational expression

A rational expression has a similar definition. A rational expression can be

expressed in the form of $\frac{a}{b}$, where *a* and *b* <u>are polynomials</u> and *b* \neq 0.



Click the icon to watch a LearnAlberta video Identifying Rational Expressions

Now that you have the definition of a rational expression, work through Identifying Rational Expressions to help you identify a rational expression.

Example: Which of the following expressions are rational? Explain. 1. $\frac{1}{1-x^2}$ 2. $\frac{2-\sqrt{x}}{4-x}$

3.
$$\frac{1-x}{1+\frac{1}{x}}$$

4. 3x

Solution:

The textbook defines a rational expression as a fraction that has a polynomial in both the numerator and denominator. To determine whether an expression is in fact a rational expression, examine both the numerator and denominator, checking to see if both are polynomials.

- This is a rational expression because the numerator and denominator are polynomials. (Remember that a constant can also be classified as a polynomial.)
- This is not a rational expression because the numerator is not a polynomial (due to the square root).
- 3. This is not a rational expression because the denominator is not a polynomial (due to the $\frac{1}{x}$).
- 4. This is a rational expression because it can be written as $\frac{3x}{1}$, and the numerator and denominator are polynomials.

Why are Rational Expressions Undefined for Certain Values?

A rational expression is not defined when its denominator is 0. Therefore, any value of the variable that would result in a denominator of 0 is called a **non-permissible value**. These non-permissible values are also called **restrictions**.



Click the icon to watch a YouTube video Non-permissible Values

xample:			
Determine the non-permissible v	values.		
a. $\frac{x-3}{23}$			
b. $\frac{23}{x-3}$			
c. $\frac{2x+1}{x^2+1}$			
d. $\frac{2x+1}{x^2-4}$			

Solution:

Non-permissible values are found by determining the values that will make the denominator equal to zero.

a.
$$\frac{x-3}{23}$$

In this case, the denominator will never be 0, so there are no non-permissible values.

b.
$$\frac{23}{x-3}$$

The denominator will equal 0 when x = 3.

c.
$$\frac{2x+1}{x^2+1}$$

In this case, solving for a 0 denominator results in the following equation:

 $x^{2} + 1 = 0$ $x^{2} = -1$

A squared number can never be negative, so this equation has no solutions. Therefore, there are no non-permissible values.

d. $\frac{2x+1}{x^2-4}$

To find the non-permissible values, first factor the denominator; then determine what will make each factor equal to 0. Solving for a 0 denominator results in the following equation:

$$x^{2} - 4 = 0$$

(x - 2)(x + 2) = 0
x = -2, 2

Therefore, the non-permissible values are -2 and 2.



Eind two equivalent expression	$\frac{2x}{2x}$		
	x – 2		







Complete "Check your Understanding" question 1 on page 222 of your textbook.

Solution:

1. a) i)
$$\frac{16x^3}{10x} = \frac{2x(8x^2)}{2x(5)}$$

 $\frac{16x^3}{10x} = \frac{8x^2}{5}, x \neq 0$
ii) $\frac{2x+6}{4} = \frac{2(x+3)}{2(2)}$
 $\frac{2x+6}{4} = \frac{x+3}{2}$
iii) $\frac{x-2}{4x^2} = \frac{x-2}{4x^2} \cdot \frac{x}{x}$
 $\frac{x-2}{4x^2} = \frac{x^2-2x}{4x^3}, x \neq 0$
iv) $\frac{x-3}{x-1} = \frac{x-3}{x-1} \cdot \frac{2}{2}$
 $\frac{x-3}{x-1} = \frac{2x-6}{2x-2}, x \neq 1$

```
b) i) Denominator:
10x = 0
  x = 0
The non-permissible value for this pair of equivalent
expressions is x = 0.
ii) Denominator: 4 = 0
This pair of expressions has no non-permissible
values.
iii) Denominator:
4x^2 = 0
  x = 0
The non-permissible value for this pair of equivalent
expressions is x = 0.
iv) Denominator:
x - 1 = 0
   x = 1
The non-permissible value for this pair of equivalent
expressions is x = 1.
c) e.g., ii) substitute x = 2:
\frac{2(2)+6}{4} = \frac{5}{2}, \frac{(2)+3}{2} = \frac{5}{2}
Both expressions produce the same result for this
value of x.
```





```
b) Denominator:

a^{2} + a = 0

a(a + 1) = 0

a = 0 or a + 1 = 0

a = 0 or a = -1

The non-permissible values for this pair of equivalent

expressions are a = 0 and a = -1.

\frac{4a^{2}}{a^{2} + a} = \frac{a(4a)}{a(a + 1)}

\frac{4a^{2}}{a^{2} + a} = \frac{4a}{a(a + 1)}, a \neq 0, -1

\frac{4a^{2}}{a^{2} + a} = \frac{4a^{2}}{a^{2} + a} \cdot \frac{3}{3}

\frac{4a^{2}}{a^{2} + a} = \frac{12a^{2}}{3a^{2} + 3a}, a \neq 0, -1
```

c) Denominator: $3t^2 - t = 0$ t(3t - 1) = 0 t = 0 or 3t - 1 = 0 $t = 0 \text{ or } t = \frac{1}{3}$ The non-permissible values for this pair of equivalent expressions are t = 0 and $t = \frac{1}{3}$. $\frac{4t^3}{3t^2 - t} = \frac{t(4t^2)}{t(3t - 1)}$ $\frac{4t^3}{3t^2 - t} = \frac{4t^2}{3t - 1}, t \neq 0, \frac{1}{3}$ $\frac{4t^3}{3t^2 - t} = \frac{4t^3}{3t^2 - t} \cdot \frac{-t}{-t}$ $\frac{4t^3}{3t^2 - t} = \frac{-4t^4}{t^2 - 3t^3}, t \neq 0, \frac{1}{3}$



Complete "Check your Understanding" question 4 on page 223 of your textbook.

Solution:

4. A. Non-permissible value: $16a^2 = 0$ a = 0D. Non-permissible value: $64a^3 = 0$ a = 0Both expressions have the same non-permissible value. Expression $A = \frac{4a-4}{16a^2}, a \neq 0$ Expression $A = \frac{4a-4}{16a^2} \cdot \frac{4a}{4a}$ Expression $A = \frac{16a^2 - 16a}{64a^3}, a \neq 0$ Expression A = Expression DTherefore, expressions A and D are equivalent.

B. Non-permissible value: $32a^2 = 0$ a = 0D. Non-permissible value: $-128a^2 = 0$ a = 0Both expressions have the same non-permissible value. Expression B = $\frac{2-2a}{32a^2}$, $a \neq 0$ Expression B = $\frac{2-2a}{32a^2} \cdot \frac{-4}{-4}$ Expression B = $\frac{8a-8}{-128a^2}$, $a \neq 0$ Expression B = Expression C Therefore, expressions B and C are equivalent.



Complete "Check your Understanding" question 9 on page 223 of your textbook.

Solution:

9. a) i) Denominator: x + 5 = 0x = -5The non-permissible value for this expression is x = -5. ii) Denominator: -3x - 15 = 0-3x = 15x = -5The non-permissible value for this expression is x = -5. iii) Denominator: $2x^3 + 10x^2 = 0$ $2x^{2}(x+5)=0$ $2x^2 = 0$ or x + 5 = 0x = 0 or x = -5 The non-permissible values for this expression are x = 0 and x = -5. b) These expressions are not equivalent, because expression iii) has an additional non-permissible value.



Complete "Check your Understanding" question 17 on page 224 of your textbook.

Solution:

17. a)
$$\frac{13}{2x-5x^2}, x \neq 0, \frac{2}{5}$$

b) $\frac{3x}{12x-6x^2} = \frac{3(x)}{3(4x-2x^2)}, x \neq 0, 2$
 $\frac{3x}{12x-6x^2} = \frac{x}{4x-2x^2}, x \neq 0, 2$
 $\frac{3x}{12x-6x^2} = \frac{x(3)}{x(12-6x)}, x \neq 0, 2$
 $\frac{3x}{12x-6x^2} = \frac{3}{12-6x}, x \neq 0, 2$